

*explicit
solve, ΔN
simplify*

$$\Delta N - (T + \Delta T) \cdot \sin\left(\frac{\Delta\theta}{2}\right) - T \cdot \sin\left(\frac{\Delta\theta}{2}\right) = 0 \rightarrow \sin\left(\frac{\Delta\theta}{2}\right) \cdot (2 \cdot T + \Delta T) \quad \sum F_y = 0$$

explicit

substitute, ΔN = sin(Δθ/2) · (2 · T + ΔT)

$$(T + \Delta T) \cdot \cos\left(\frac{\Delta\theta}{2}\right) - T \cdot \cos\left(\frac{\Delta\theta}{2}\right) - \mu_s \cdot \Delta N = 0 \rightarrow \Delta T \cdot \cos\left(\frac{\Delta\theta}{2}\right) - 2 \cdot T \cdot \mu_s \cdot \sin\left(\frac{\Delta\theta}{2}\right) - \Delta T \cdot \mu_s \cdot \sin\left(\frac{\Delta\theta}{2}\right) = 0$$

$$\Delta T \cdot \cos\left(\frac{\Delta\theta}{2}\right) - \mu_s \cdot (2 \cdot T + \Delta T) \cdot \sin\left(\frac{\Delta\theta}{2}\right) = 0 \quad \sum F_x = 0$$

$$\frac{\Delta T}{\Delta\theta} \cdot \cos\left(\frac{\Delta\theta}{2}\right) - \mu_s \cdot \left(T + \frac{\Delta T}{2}\right) \cdot \frac{\sin\left(\frac{\Delta\theta}{2}\right)}{\frac{\Delta\theta}{2}}$$

Copyright © The McGraw-Hill Companies, Inc. Permission required for reproduction or display



© Adam Woodliff/CORBIS

$$\frac{dT}{d\theta} - \mu_s \cdot T = 0 \quad \frac{dT}{T} = \mu_s \cdot d\theta$$

$$\int_{T_1}^{T_2} \frac{1}{t} dt = \int_0^{\beta} \mu_s d\theta \rightarrow \begin{cases} \text{if } T_1 > 0 \vee 0 > T_2 \\ \ln(T_2) - \ln(T_1) \\ \text{else} \\ \text{undefined} \end{cases} = \beta \cdot \mu_s$$

$$\ln(T_2) - \ln(T_1) = \beta \cdot \mu_s \rightarrow \ln(T_2) - \ln(T_1) = \beta \cdot \mu_s$$

$$\ln\left(\frac{T_2}{T_1}\right) = \beta \cdot \mu_s$$

$$e^{\ln\left(\frac{T_2}{T_1}\right)} = e^{\beta \cdot \mu_s} \rightarrow \frac{T_2}{T_1} = e^{\beta \cdot \mu_s}$$

